Add/subtract with brackets

Grade 3 Order of Operations Worksheet
Find the soluticn,

. (11-4)-3= 2 2+(12-1)=
X B-3+T= 4 17-(6+6)=
£ 14-(17-5)= & S+(12-2)=
T 15-(F+d)= B Ssfd-1)=

% 12-3-6m 0. 16-4+ 6=

N 1d+(11-8)= 2 1-(11-10)=
2 16-(94+3) = M 18 (2 +4) =

5 1711 +5)= B G4 (11:6)=




Add / Subtract with parenthesis - 4 numbers

Grade 3 Ordar of Operabons Worksheat

Find the andvwe 10 Sach Guason;
g = (33 - 3 = Ve
5 37 = (34 + 11 = 30)=___
% 17 — 13 + (40 — 31) =
40 = 2 = (17 + 19 =______
» 40217 +19 =
23 =0+ -2)m_____

3o =32 + (20 = B] =

" 3o =32 + 20 - 6=

» {9+ 36) — 23 + 37 =
w28 — (5 + 15 — 10) =
Ml + B = (14 = ) =

w2 - 13 - (38 — 35) =



Add / Subtract with parenthesis - 5 numbers

Grade 3 Order of Operations Worksheat

Fare] 1y it 1 i Gparibn.

"33 -(3+4+ 1+ 19)=

a3 -3+ 4 4+1 4+ 18=__
52+ 13— (2 4+ 10+ H=___
“ 8+ 18 + (29 + 35 -B)=__
40 — (32 + 2+ 5) + 1M1=
® (50 — 40) — (30 = 20 — 10)=____
TS0 ¢ 40) = (30 + 20 + W)= ______
® (50 « 40) — 30 + 20 « 0=
B3 -5+ 21) » 36 — 2=
w39 e (26 -8 - 14) -8B

M3 -1 + 33— (32 - 4)=

18 + 3 =11 =25 + 10} =



